
Name: 　　　　　　　 Date: 　　　　　　 Score: 　　　

Multiply by powers of ten (missing number)

2.924 × ________ = 29.24 2.722 × ________ = 2722

7.635 × ________ = 76.35 7.057 × ________ = 7057

7.116 × ________ = 711.6 5.741 × ________ = 574.1

8.566 × ________ = 85.66 2.587 × ________ = 2587

2.895 × ________ = 28.95 5.167 × ________ = 5167

5.659 × ________ = 56.59 5.118 × ________ = 511.8

10.589 × ________ = 1058.9 2.767 × ________ = 2767

4.32 × ________ = 43.2 9.881 × ________ = 98.81

3.843 × ________ = 3843 4.513 × ________ = 451.3

8.944 × ________ = 8944 6.631 × ________ = 6631

www.snowmath.com

https://www.snowmath.com


Name: 　　　　　　　 Date: 　　　　　　 Score: 　　　

Multiply by powers of ten (missing number)

2.924 × 10 = 29.24 2.722 × 1000 = 2722

7.635 × 10 = 76.35 7.057 × 1000 = 7057

7.116 × 100 = 711.6 5.741 × 100 = 574.1

8.566 × 10 = 85.66 2.587 × 1000 = 2587

2.895 × 10 = 28.95 5.167 × 1000 = 5167

5.659 × 10 = 56.59 5.118 × 100 = 511.8

10.589 × 100 = 1058.9 2.767 × 1000 = 2767

4.32 × 10 = 43.2 9.881 × 10 = 98.81

3.843 × 1000 = 3843 4.513 × 100 = 451.3

8.944 × 1000 = 8944 6.631 × 1000 = 6631
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